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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 27 gSaA  
Please make sure that the printed this question paper are contains 27 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 

ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the question, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

    

uksV %uksV %uksV %uksV %        (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

            All questions are compulsory.    

        (ii) oLrqfu"B iz'uksa ds lghlghlghlgh fodYi fy[ksaA 

   Write the correct option in objective type questions. 

  (iii)  nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 

   Internal choice has been provided in long answer type questions. 

  (iv) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

   Marks of each question are indicated against it. 

[k.M[k.M[k.M[k.M – vvvv    

   SECTION – A [ Marks :  20  
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            ¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½     

(Physics) 

  1. izdk'k ds fdl izHkko ds dkj.k rkjs fVefVekrs gSa \ 1  

 (a) viorZu  (b) ijkorZu 

 (c) fo{ksi.k (d) izdh.kZu 

 Stars twinkle due to which phenomenon of    light ?  

 (a) Refraction   (b) Reflection  

 (c) Dispersion   (d) Scattering   

  2. vk¡[k dk og Hkkx tks vk¡[k esa izos'k djus okys izdk'k dh ek=k dks fu;af=r djrh gS % 1

  

 (a) LoPN eaMy  (b) us=xksyd  

 (c) ifjrkfjdk  (d) iqryh  

 Part of eye that controls the amount of light entering into the eye :   

 (a) Cornea  (b) Eyeball  

 (c) Iris  (d) Pupil  

  3. fdlh fo|qr~ cYc dk vuqearkd 220 V, 200 W gSA tc bls 110 V ij izpkfyr djrs gSa 

rc blds }kjk miHkqDr 'kfDr fdruh gksrh gS \ 1 
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 (a) 75 W (b) 100 W 

 (c) 150 W (d) 50 W   

 An electric bulb is rated 220 V and 200 W. When it is operated on 110 

V, the power consumed will be :    

 (a) 75 W (b) 100 W 

 (c) 150 W (d) 50 W 

  

  4. fuEufyf[kr esa dkSu tSoek=k ÅtkZ òksr dk mnkgj.k ugha ugha ugha ugha gS \ 1 

 (a) ydM+h  (b) xkscj xSl 

 (c) ukfHkdh; ÅtkZ  (d) pkjdksy   

 Which of the following is not an example of a biomass energy source ?

  

 (a) Wood   (b) Gobar gas  

 (c) Nuclear energy   (d) Charcoal   

 

  5. iou ÅtkZ ds mi;ksx djus dh D;k lhek,¡ gSa \ 2 

 What are the limitations of harnessing the wind energy ?   
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  6. fo|qr~ VksLVjksa rFkk fo|qr~ bL=h ds rkiu vo;o 'kq) /kkrq ds uk cukdj fdlh feJ/kkrq ds 
D;ksa cuk, tkrs gSa \ 2 

 Why are the coils of electric irons and toasters are made of an alloy 

rather than a pure metal ?   

  7. Hkkjr ds fdUgha nks nks nks nks jkT;ksa esa ty laxzg.k ds izkphu rjhds fyf[k,A 2 

 Write ancient methods of water harvesting in any two states of India. 

  8. ,d fdj.k vkjs[k dk mi;ksx djrs gq,] ,d mÙky ysal ds 2F1 ds ijs fLFkr fcac ds izfrfcac 
dh fLFkfr] vkisf{kd vkdkj rFkk izÑfr dk mYys[k dhft,A 4 

 Using a ray diagram, explain the position, relative size and nature of 

image of an object placed beyond 2F1 of a convex lens.  

  9. ukekafdr vkjs[k [khapdj fdlh fo|qr~ tfu= dk ewy fl)kar rFkk dk;Zfof/k Li"V dhft,A czq'kksa 
dk D;k dk;Z gS \ 6 

 Explain the underlying principle and working of an electric generator 

by drawing a labelled diagram. What is function of Brushes ? 

vFkokvFkokvFkokvFkok    

OR 

 (a) ¶ysfeax ds okegLr fu;e dk la{ksi esa o.kZu dhft,A 2 

  Briefly explain the Fleming's left hand     rule. 
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 (b) ifjukfydk esa izokfgr fo|qr~ /kkjk ds dkj.k paqcdh; {ks= dk o.kZu dhft,A 4 

  Describe the magnetic field due to current in a solenoid.  

[k.M[k.M[k.M[k.M – cccc    
    SECTION – B  [ Marks : 19 

            ¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 
(Chemistry) 

10. )()(4)(2)()(2 2223 gOgNOsPbOsNOPb ++ →
ekÅ"

 ;g vfHkfØ;k gS % 1 

 (a) foLFkkiu (b) Å"eh; fo;kstu 

 (c) la;kstu  (d) Å"ek{ksih 

  )()(4)(2
Heat

)()(2 2223 gOgNOsPbOsNOPb ++ →  This reaction is : 

 (a) Displacement  

 (b) Thermal decomposition  

 (c) Combination   

 (d) Exothermic  

 

11. ,slhfVd vEy ik;k tkrk gS % 1 

(a) phVh ds Mad esa  

(b) usVy ds Mad esa 

(c) larjk esa 
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(d) fljdk esa 

Acetic acid is found in : 

(a) Sting of an Ant   

(b) Nettel's sting   

(c) Orange  

(d) Vinegar   

12. esUMsyhQ dh vkorZ lkj.kh esa fdrus lewg gSa \ 1 

 (a)  18  (b) 16 

 (c)   8  (d) 6 

 How many groups are there in Mendeleef 's Periodic Table ? 

(a)  18    (b) 16 

(c)  8     (d) 6 

13. la;kstu vfHkfØ;kvksa ls vki D;k le>rs gSa \ ,d,d,d,d mnkgj.k nhft,A  2 

What do you mean by combination reactions ? Give one example.  

 

14. 2CaOCl  dk izpfyr uke D;k gS \ bldks cukus dh jklk;fud vfHkfØ;k nhft,A 2 

 What is the common name of 2CaOCl  ? Give the chemical reaction by 

which it is prepared.  
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15. U;wyaSM ~l ds v"Vd fl)kUr dh dksbZ nks nks nks nks lhek,¡ fyf[k,A  2 

 Write any two limitations of Newland's Law of octaves.  

 

16. (a) mHk;/kehZ vkWDlkbM D;k gksrs gSa \ nksnksnksnks mHk;/kehZ vkWDlkbMksa ds mnkgj.k nhft,A  2 

  What are amphoteric oxides ? Give two examples of amphoteric 

oxides.  

 (b) fo|qr~ vi?kVuh 'kks/ku ij laf{kIr uksV fyf[k,A 2 

  Write brief note on Electrolytic Refining.  

 

17. D;k ?kfVr gksrk gS tc ,FkkukWy fuEu ds lkFk vfHkfØ;k    djrk gS %  2 × 3 = 6  

 What happens when ethanol reacts with the following :  

 (i) vEyhÑr iksVSf'k;e MkbØksesV  

  Acidified potassium dichromate  

 (ii) lksfM;e  

  Sodium  

 (iii) xeZ lkanz 42SOH  

  Hot. Conc.  42SOH  
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  mi;qZDr vfHkfØ;kvksa ds fy, jklk;fud lehdj.k nhft,A 

  Give chemical equations for above reactions.  

vFkokvFkokvFkokvFkok    

OR 

 

 lkcqu dh lQkbZ izfØ;k dh fØ;kfof/k le>kb,A 6 

 Explain the mechanism of cleaning action of soaps.  

 

 

[k.M[k.M[k.M[k.M – llll    

    SECTION – C  [ Marks : 21     

            ¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½ 

(Life Science) 

18.  IySTeksfM;e fdlls foHkkftr gksrk gS \ 1 

 (a) f}[kaMu  

 (b) cgq[kaMu 
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 (c) (a) vkSj (b) nksuksa 

 (d) eqdqyu 

 Plasmodium divides by :  

 (a) Binary fission   

 (b) Multiple fission  

 (c) Both (a) & (b) 

 (d) Budding  

19. IySlsaVk fdlds LFkkukarj.k esa lgk;rk djrk gS \  1 

 (a) vkWDlhtu  

 (b) Xywdkst  

 (c) vif'k"V inkFkZ 

 (d) ;s lHkh 

 Placenta helps in transferring of :    

 (a) Oxygen   

 (b) Glucose  

 (c) Waste substances  
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 (d) All of these  

20. vadqj.k D;k gS \ 1 

 What is Germination ?    

 

21. f}rh; miHkksDrk dkSu-ls iks"kh Lrj ij vkrs gSa \ 1 

 (a) izFke  

 (b) f}rh; 

 (c) r`rh; 

 (d) prqFkZ 

 Secondary consumers come at which trophic level ?     

 (a) First  

 (b) Second 

 (c) Third  

 (d) Fourth 
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22. tSo fuEuhdj.kh; inkFkZ D;k gksrs gSa \  1 

 What are biodegradable substances ?  

  

23. gkbMªk esa eqdqyu fof/k dk o.kZu dhft,A 2 

 Describe the process of budding in Hydra.  

  

24. gekjs 'kjhj esa xzkfg;ksa ds D;k dk;Z gS \ nks nks nks nks xzkfg;ksa ds ckjs esa fyf[k,A   

 2 

 What  is the function of receptors in our body ? Write about two types 

of receptors.    

  

25. izfrorhZ pki dk ukekafdr fp= cukb,A 2 

 Draw a well labelled diagram of Reflex arch. 

26. esaMy ds iz;ksxksa ls dSls irk pyk fd fofHkUu y{k.k Lora= :i ls oa'kkuqxr gksrs gSa \  4 

 How do Mendel's experiment show that traits are inherited 

independently ?     

27. {kqnka= esa ikpu dk o.kZu dhft,A   6 
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 Describe digestion in small intestine.  

vFkok 

OR 

 ekuo esa 'olu ra= dk o.kZu dhft,A  6 

 Describe the respiratory system of human beings.   

s 

 


